A New [Mode of Inversion of Matricesg

For simplicity we start with a third order matrix:
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In general the M may rot be egual nor have the sarce sign. WE
wanst the M to “e equal and have a positive sigm. Let M te ihe
legst common multiple of the M*j then we can write:
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We now do 2 aumerical of the <4 th rier:
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Mulsiplying the e rows by the d

irverse of A:
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I¥ is an easy extension
fith order just to help
must be preparedé to do.
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to the general case. I do one of tkhe
you see the geperalization which one
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c = 1 - 26 = 3 & 3L = G4
5 - 2 - £ = 27 + 48
-25 + 1£ - 2 « 49 + 56
c.A = 80 - 40 - BO + 80 + 40
H=1(ar:r}=-2{-¢n}=-1{-ac}=1(sa}=z{4c}
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50 - 4 - 12 + 6B& = b4
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This answer checksa: . = A .4 = I

T di4 one of the 10 th order which iz found fully illustrated
on pages 217 ... in vol. £. The whole scheme is a matter of
efficiently calculating the various ¥ vectors forming the C

matrix. Most of the work is im calculating the Iirst 1 The
other - have so many parts alike the firss 7 that o¢ne has
mostly to covy them down.



